
N an1e: _..A_:._l:._~'f------------------ Linear Algebra, Math 4326 
Q11i1' :3, Spring 2016 

I3. Peckham 

1. (3 pts) Assume that v1, v2, £;3 are all vectors in a known vC'ctor space V. Prove that 
w =span{ ii1, v2, v3} is a vector subspace of v. 
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2. (2pts) Consider the vector space V~2 . Both B and C are bases for ~2 , where B = 

{ U] ' [ ! 1] } ' and C = { [ ~] , U] } . Let x = [ ~] . 
(a) Find the coordinates of x with respect to each of the two bases. That is, find 

[:i!Ja, and [:Z:]c. 
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(b) Extra credit (3pts). Find a matrix A such that [Yk = A[Y1a for any vector 
yE ~2. 


